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RELACAO DO ACO

P1 P2 2xP3
i P4 P6 2xP7
> P10 8xP11 2xP12
= g P16 P17 P18
«Q 2xP19 P21 P23
& P24 P25
ACO N DIAM | QUANT | C.UNIT | C.TOTAL
(mm) (cm) (cm)
CA60 1 5.0 467 95 44365
2 5.0 180 66 11880
3 5.0 130 85 11050
4 5.0 50 61 3050
5 5.0 22 27 594
6 5.0 106 27 2862
7 5.0 40 27 1080
CA50 8 10.0 4 307 1228
9 10.0 36 317 11412
10 10.0 4 293 1172
o 11 10.0 12 287 3444
o © 12 10.0 72 297 21384
S o 13 10.0 4 273 1092
~ 14 12.5 6 317 1902
N 15 16.0 20 317 6340
RESUMO DO ACO
ACO DIAM C.TOTAL | PESO + 10%
(mm) (m) (kg)
CA50 10.0 397.3 269.5
12.5 19 20.2
16.0 63.4 110.1
CA60 5.0 748.8 127
PESO TOTAL
(kg)
CA50 399.7
CA60 127

Volume de concreto (C-25) =4.91 m?
Area de forma = 86.72 m?
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